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Greatest Common Factor or GCF of two or more numbers
is the largest number that is a factor of the given set or
group of numbers. It is the Largest whole number that will
divide evenly into the set or group of numbers.

Example: Find the GCF of 16 and 36
Solution: First, find all of the factors of 16 and 36,

Factors of 16: (1, 2, 4, ¥, 1&)
Factors of 36: (1,2, 3, 4, &, 9, 12, 1%, 36&)

The common factors shared by 16 and 36 are: 1, 2, and 4
Since 4 has the largest value of the common factors it is

the greatest common factor. So..... our sentence is:
The greatest common factor (GCF) of 16 and 36 is 4.

xxHere is o fun way to find GCF of two numbers.xx

GCF: Greatest Common Factor

The GCFof 12 and 20is 4
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The Least Common Multiple or LCM of a set or group of numbers is

the smallest number that is a multiple of all of the humbers of the

given set or group.

Example: Find the LCM of ¥ and 12

Solution: Listing is one method for finding LCM;

Multiples of %: ¥, 16, 24, 32, 40, 4%, 56, 64, 72, ...

Mulbiples of 12: 12, 24, 35, 4%, &0, 72, ...

The ﬁrs& few multiples shared by ¥ & 12 are 24, 4% and 72.

The least of these common mulliples is 24, So... Our sentence is...
The least common multiple (LCM) of ¥ and 12 is 24.

wxAnother method is by using factor krees and prime factorization wx

(1) Find the prime factors of 8 and 12:
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(2) Now list the prime factors, one below the other, but if a factor is not
“matched” with the same number above it, then place it in a separate
shaded column <shading is for clarity, don't actually try to do shading

yoursaifs.

For 8 2 = 2 + 2
Forl12: 2 » 2 «» 3

3 Now, draw “down arrows” through each shaded column. Write the
number that is “represented” by that column:

@) Multiply this together to get the LCM:

2x2x2x3=24




